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Tl I u u ur r.l r.u u u.l p u n Upu trfi U qn ul u Ut{ uJ q u{ |rlt
UrnLabn 3260

01 7232 l-dqpu q u.rtr u ! ur p ruqu 11 u p q< hum 100 150 r5
01 7233 llrlpuqurLuLt pbtn{ Ltuqn {h g< huLn 100 150 r5
01 7230 /-)rpurqurLu! tlbb g< huur 1000 50 50
01 7234 l-dryauqutr uU UnZun luqrJn { q< huLn 500 50

7231 l'dqpu u1 urL ur L1 q n h b-pfr lbti ulhtl q< huLn 150 50 75
901 2700 *pbtrulutr qfrun Llptrbp[r hurLirupu6n L q< hu.run 3500 l0

01 3400 SUU+hn q< nulm 1 000 IU 20
2152 rLfpfr uupp q< nuLn 6500 2 13

301 7331 ],rUh: q< hur"n 2500 ?n 7q
301 7323 9urnh: uLnbqlbp rlb6 q< hur"n 2500 20 50

7322 lq*nhr umbqlbp {npp g< hu.rr-n 1 500 30 45
Z3a0 luqulupfr1 q< huLn s00 30 l5

01 )420 L2nLLILbp[r pnLrp !u11nLtr g< huLn 250 s00 125
01s )420 ll2nLdLbpf pnLqp Uq:nr.t, q< | hum 1s0 50 75

)420 lt 2nuJtrbpfr pnLrp q< nuLn 150 400 60
'220 lUtlnutl q< nuru r50 200 30

01 120 9n6qud q<
un n Lqh 150 40 6

t01 lll qunh:h rJbunurlulurpb t4urqbp {rnpp q< | LnnLr.h 150 200 30
100 Lrurnh:h dbLnuqulurpb quqbp dh2htr q< | unu.h r00 100 r0

01 200 (u2{ur u u.r pp qp ur u btr.; ur ! u1 f tr q< nuLn r500 20 30
i01 710 Unufrtrd 1np q< hum 150 2000 300
r01 710 lUnu[rtrd hbrlnLtl q< hurn 150 1 500 225
1019?130 

luu.rr"nlrm ut-L nbmfrLn( q< nuLn 300 300 90
01 130 lJumfrur qhulymlur q< num 100 400 40
i0192136 l.ILu Ln fr r-n bp ! ur p1 ur q< num 300 300 90
0 135 lLlLuufrmfr rJfr2nLtl q< | hum r50 50 75
01 921 00 ftbmfrtr q< hu.ru 100 100 10
01 tzz 9pfl frtrpLuhnu q< hr.um 100 2000 200
0192128 *pp1, qblurlfrlr q< nulm r00 s00 50
0192128 9pfr1, qblulfrtr q< huLn 300 600 rB0

PuLntr019 )00 q< hum 100 r50 15
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192114 qLhph purpdf'![ huudurp pulLrlp g< nuJut 300 50 l5
9( 192111 YUnpn purnd11q q< huru 350 30 10 s

92160 aurh: q< huur 250 150 37.5
921 60 Xugl1t drx u.l ur r{bL urii lr q< hu.lLn 500 r50 75
92160 ult9f12unpf fu g<

c<

hutn 2s0 150 37.5
?n 97231 $rJI

huLn l5 1 0000 r50
30'i-
30l_
',

5U

92133

9212s

q< nuJm 100 30
q< hurun 300 100 30

97622 q< t.tq 2s00 300 750
30 97646 tlnLrya 43 q< nuu 5000

350

trJ

300

25

105
30 923s0 <u 

U h: +n ur dur n ll rtrll hL rjbpbtr url bn h du rq u tlbtr

U uqd Lu dhL ur g I ur;fr pr,u rluL p 44 6 LLul,u r.h ir

g< nuLn
5U )2730 q<

q<
hr.urrr 100 500 50

30 )2732 9uqdurnurnurllurL quulutrull ruLbp

StrurbuuUurtr, uurtrhhqbt hq f,t t4rgph r.fh2nrt bn

num 200 s00 100

3430
9e 31242 l-Llrugph rrhn2Jr 6bnpfr g< qq 600 400 240
39r 31243 4rugph {n2fr u{r"nndum q< qq 1 000 600 600
39r 31241 O6urn dbnpfr un{npuul4utr q< qq 1500 30 45
39{ 31244 O6un Lnbr"nbuuLurtr q< hum | 200 r00 2U
39t 31245 (br1nL! o6urn

Jtrlg1.l dfrgng bp urclurtrp ! urrJ hurdurpdbp

c< d,,,nn 1000 500 s00
igr t100 q< nun 750 300 225

r1100 Julf unul4bgLnrl hbrlnL! Idweh( q<
mmn 300 600 r80

39€ ,1210 Jquupfr 1{ugLILuL hbqnLtl q< I hurm 300 300 90
iqr 2600 L{ugnr1 , tluppnq dfr2ng nur!2ur Qud hurlupdbp q< N|'uLN 300 300 90
398 t1284 Uuluh ur un rllfr dLupp nrl trjn Lp

Uqu !fitrbpfr 1{ugdu.utr dfrgn g

q< qq 1000 300 300
il280 g<

thLnn 600 200 120
1282 An2f L rltupp b1n L qnp E{u6pLbp q< huum 300 200 60
1283 (uuru !fr 2L2ng /qnpBLludB/ q< nutLn 400 300 20

9e8 1300 (nu uqbp unlrl/rlbquiun n p/ q< nuu 400 100 40

398 2410 aul lbgtr n 11 rllr2n gL bp r.lr u1 ur1 u 1.1 u h n Llpfr h u rlu p g< hu.rLn 600 100 60

qqR
Y"- 1247

Ufu uu.rh uLnrl h brlnLl4 uurLhutrqn Llg[r

h u LIu-r p/fu ur util n Lpl
q<

muln 1000 200 200

$ 6000 Ut{b1, un{npurlurtr u bLlu Llulfrtr q< hur"n 800 400 320
98 91 00 9nqup[u!, urpp huu{upblnL dnqnL{ -f(- hum 800 100 80
J/l t100 2nLquputrf pnLrp uu hu.rLn 140 1 000 140

)1yu nbqbnLlur.1fr0 ubptlbpfr hhZnnnLBrur0 tinhr rJu hu.rm 30,000 1 30
UJ )150 puqdu$n LL Llgfrntru 1 u urpp, rn qfr1, u ! urti lrp ttu hur.n 1 50000 1 150

1110 I-uqbpu4frL mqfrl uu huur 1 00000 1 r00
391 r000 9uhnr.;p uu 4nurd 500000 1 s00

12fr0
tlLunb;urtrlnLB

9 200 -uuL{ltu I ru(+nruuJrl q< lnLnn 435 1 9200 8352100 liUlrqnU'tlnbdhnLd
rl'hq. {unbthp

o-a nmn 455 6000 2730)91 220 q< thnn 445 2400 1 068
)000 Uq n2ln4urgrlruE rJu urnhLtu 132000 1 132

rlbrln p urlp utr {6 ur p tr u p ur ntrlur 1 q uljrJurLtr bp n.{

U\urhrlruq{urb urbnr}u

filhulpruqnl2Or.tq

7449.9

50l- 240 q<
4hqurhuln 1 000 5

361 100 q<
4h4urhuln 40 3000 120
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;17120 Sudnulh+hh 20riq _ +< qh4urhurtn 46 1 000 46
;1.L120 $urtmnlr+hh 40tiq q<

g<
4hqurhurrn 45 1 000 ^e

3 ;11150
4h4urhuru 2170 300 81

|3 ;1,1160 q<
ohnurhuru 140 400 56

trt70 LFnuu{hlhh 40rlq q<

q<
nbnruhrurn 20 2000 40

ia IIITO lnnurullhpfrh 2 0riq/rl1 2rI1 unllurb 200 500 100
I

Lt200 'f< qt4ruhuun 15 300 45
5 71220 Lhpphh th4nthriurh 2pullhpurlqurhqLhl urn q<

4hrlullrn2Jr 300 300 90
11350 Uu\nlFlrhurppnr 50rlq q<

4h4urhurur o 900 B1

11360 tunLt\urfglr$hpl Sriq/ g<
hurtn 1700 400 680

3 11380 t b\nuhhurppnt 50ilq g< qh4urhunn 10 300 3

5 11390 q<
undurh 25 200

L7420 9uLglrnuifr qlnr[nhrunn 0, 5% r+(-
h4urhruur 10 300

r7440 Oburtrh 50rjq q< unduL 270 200 54

21r00 Zhqurpfrh hruurplrmrl q<
OUNLD 7)0 100 70

I

3:t ztIl0 .{urp$upfrtr 5rlq q<
hnurhrurn 40 1 000 40

i

?3( 2LL40 q< h4urhurur | 1,+0 3000 420

33( 7.L270 hF\u ph ulrunnrtr u\n11 hu iltu\gn rp,Jmb q< ln{urh 1400 100 140

JJI 272t0 ;n\uPh qupnrfuu\n1 hurlu_r\gnrp;mL 1OOrIq q<
thquhurrn 1tzj 720 86.4

55t t7230 bnlurppnr 5ilq q<
hqurhunn '0 500 5

33€ ,_1240 3hurh\nFurlru rllrt 2Cr0rikq/ml q< l"nrl-lr ta5 200 5

33€ 11360 +fghpfl tnhfnnpuln 0, Sris g< rlhrlurhunn 7 300 21

55b 11380 rlfrqopuftr 62,5 q<
nhn urhurtn 10 1 000 10

55b 1,410 Ufnf{uruurunnfrh l Orlq q<
4hnurhrurn 4t0 1 000 40

36 7410 Uhilrluruurururhh 20dq g<
4h4urhruur €0 1 000 50

3so 1_420 Urnnn{uurntuurfrl: 1 Orlq q< qhnuhurur 1C0 1 000 00

36 L420 Uurnprluruurunntrh 2rOrlq q< rlt4urhuln 2C0 1 000 200

14s0 Uiltn+hqhtr 5rJq q<
+hnurhrurn zc 1 500 37.5

36 1560 Zhqpptnppfrurqf rl 50riq q<
thqurhurut 25 1 000 25

36 1590 $nrlnuhrfh4 40rJq q<
4h4uthuru 1 500 75

L600 hl4urqurilfr4 150rlq q<
nhnruuurul 6C 1 000 60

336 t620 Uulhphhnlur\urnh 2 SrJq q<
4h4urhruur 50 1 000 50

1690 qurnqh+hpL 25dq '+{- 4h4urhuln 150 1 100 165

JJ 1690 9ul{h+bLnt 12,5rlq q<
4h4urhruur 120 400 48

1700 Uhurnqpnlnl 50riq q(
4hqurhur.n 18 1 500 27

1720 .F[unqpn1n1 5rlq g<
nhnruhuln 25 1 500 37 lt

1720 trhunulpnlnl 10rlg q<
nhnurhrurn 4) '1500 60

3 1730 .{hpurqullfl 80rlq g<
nhnurhruur 35 1 500 525

1750 t[S\[q]rh 1Orlq q< rlhtuihurur 16 2000

1760 hhurLuqnlrt 5rlq q<
4tqurhuru o 2000 12

36t L76t Ughurlrluurfirgfrprppnr 100 rlq q<
nhnurhrurn

-t7

800 56
36: 1110 Lhuururuthh q<

4hrlurhurur 200 3

tL20 Shppfllu$]rtr 1% q<
urrFurpunLE 5200 20 104

r180 Upbupfr umlgur4]rruq ]rh l % q<
uFpurpunLp 800 OU 48

290 f'pnrqpnQhtr 400 rlq q<
nhnurhruur 3t; 1200

1'l1Z
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631290 g<
)2Urnult 1 500 150

531300 q<
rlhqurhtuur 130 500 65

t31300 f< r1ntr4n4 800 150 120
t31310 $lllnShhur\ 5% q<

qnh4nq 1?_00 300 60
131310 }[\lnghtrurll 75rlo q<

ntnurhunn 40 1 500 60
? ;3L310 ][[ln$hhur! 75r.[rr3rir q<

uttdurt 100 1 000 100
;41413 rlhpuunlhrnurqnh 

urlj hurt urohr q< h*ut 700 100 7Q
,422L0 'tlph4trfrqnph Srlq g<

4h4uhurr.n 40 1 000 40
42230 llqrfpopulrh 50mkg q<

rlh4urhurur zc 1 000 25
42230 Lhnpfrpopu[tr 100mkq q<

4hnruhunn 45 1 500 67.5I
5 42240 Ofullurqnl Srlq q< rlhnurhuln 60 1 000 60

51111 Uilopuurgfrfirh 500rJq q<
qhrlrur4rur.nfr 50 400 20

511113 Uufopuur glrfirh 2 50/5r-tt q<
zb2 1400 300 420

51115 3h$urrhpuhh q<
zbz 900 800 720

t1115 h$urlhpulrh 250 rlq g<
nhnuluuurh 54 800 43.2

i1118
I

55t

3h$urFhrupuntr 'lq q<
?b2 300 800 240

t1,t25 Jqhurpnrllrghb'1 00rlq/Srtr 'f(-
zb2 2400 200 480

3( >IIZJ Uq[upnrI]rgfrh 500rlq g<
th4urrqururh 6tt0 200 r30

55E ;'J_726 ehburrudbghtr 0.3% q<
urlrtrurLurnht 8t'0 100 85

136 rt27 q<
4h4urqururh 15 200

336 !134 3fqpn$ppuurqhh 2ljOilq q< qt4ruhuln 47 1 000
11

I
t50 Lt34 SlrqpnSlnpuurqhL 0,ll% q<

urLhurtruBht 700 100 70
3 tL48 9lnnrpfrrlurqnl 1%, 10% q<

rlFulPunLp 800 100 BO

1150 5lnrl1nhurqn1 50rlq q<
rlhnulrunn 6 400 z

Lt70 ugbllLn,lhp 200 rlq q<
4hnurhurur z6 100 2B

33 tt70 ugbhrmllrn 3% | q< ur!hurpunr 700 CU
Lt87336 ftbrunlhnhh 200 dq _ | +< 11h4u:hurn 28t0 100 28k

936 1195 t-IurF4nr hnFrlurl hrfnrhnqppntl|rtr i 0% | C< nrlurt 20) 200 40
2A( 1,122 qlurpurghurulJnl 500rtq I q< qhqurhurn (l 700 42

Lt22 nurpurghurulln 1 1 25:lL<11 5 q<
zhz 500 150

3 t152 q<
urllhurpuntl Bs0 100 85

tts2 ihupugbhhh 30ilq/ g<
PunLp 850 100 85

366 153 ltpuunlhuturq nh 4rlo,/rJt q<
un! ultl tf,L 300 AE

1366 155 'tlf1n\urpqlrh, 1% -f(- urlltru!rup lOOcrl s0 50
r366 156 {}|Linp1 Srldril q< urllLur!rup 800 40

113367 Uuru:nunun-tnl'1 0Or.tkq 2b2urnr.turh lntbnrlp q< huru 2000 150 300
367 130 'IfQhhhlrapurr_thh 1 00ilq q<

rlh4urhurtn t5 200 3
367 130 'Ih$hhhlrapurilhtr i % q<

undrutl Jt/ 100 3
501 131 npururu4frh lOrJq qti4urhuur 55 300 r65

Lt2 llhurpnh]r4urqnr 500rjo q< ilnrjhL 100 100 10
369 LI2 tlhurpnhf4urqnl 500rlo q<

4h4urhun 60 400 24
12t369 Ulpthrluqnr 400rlo q<

rlhnurhrurn 200 100 zv
369 r24 't( +hnruhunn 250 100 25



tlbnnnulo
25156.46i

e 651.11,4 llUqlrlqbLhehrhtr lq q< frt4 90 1500 135J

3 i5tt1,! UdnpufrghhtJ 500rJq c< 1UjF 40 1 000 40
t51110 udqhghlhtr 1q q<

z2htl 350 500 175
t: ;61,127

f( un{urt/ J2 15000 480
i61136 Uqunrpfrtr 2dll0dq g< un{urtt 90 300 27

33 ;11350 UutinnphtrupnL 5% 5tI1 q< un{urtl 6000 312
t5 3t370 UmnullnLpfrnLd pbqf lurun 2.5dr 25dq q< ruft,rlnLlur 2200 200 440
3 31370 Umnu,rllnLnhnLd pbqfrlurtn 5d1 50dq g< u-rdqnLlu.r 2300 300 690
3 67157 c< u-rtJutnLtLu 100 800 80

31350 Un 4n LLuL 4dq 2rJL /ufr u1 b! n Lp ntr fr n Ldh pn n dh n/ g< unduLr oqn 150 142.5
71.1.12 Pbnn4n Lut t-p 2trrunduLl h Wnumpnr4fr nLLIh ppndhrt g< nuu 5050 70 353. s

l: 61115 Pnrqh{uttuLhL urqhtrul 4rJ1 2Odq q< u-rdqnLlu-r 1410 400 564
53 57126 9btrurudhghL 80dq 2d1 lC< rnqurq 65 1 000 65

3 91138 QgnLlnqu-r 10% 100dr 't1- L.r.tt.drurBbB 450 400 180

lsr 11138 $UnLUnqru 10% 200rJi1 +< r.lll.+uJBbp 470 200 94
11138 *UnLllnqur 40% 5J1 +< ndLutl .to 1 500 54

11138 *UnLl{nqur 5% 250LIt rlt.rhrrpbp rB0 200 36
55t )1138 T\ rt.rhu-rBbp 200 ts00 | 300
33( 1t473 rlbpu u rjbpLuqnL 4tI</rJ 

1 rnLlutl 65 4000 260
ise 11440 rlhpuqnt 1% 5dL +< nLlutr tl5 1 500 67.5
3se ;1164 rlhphLhtr 5d1100dq +< uLIqnLlLu 350 600 )10
i:e '1130 +h$bLhh+nu.rdhti 1% 1d +< rn{uutl 11 r 5000 330
t) tt202 '[hghLnL 250dq 2tlL,/tunuilqhlLuurl lC< lunduL t/J | 000 175

33e 1176 InpnLLnrltlfrtr 5t1125{)dq lq< r-r.rdulnLlur 4900 50
336 r490 Tnqbqhun 250dq

TnnLnudbnhL 2Orjq/rjr

q< nup 40 r 000 40
36 1170 q< rnUurtl 1 000
36 1,L74 :nL$hLhL 24tlqlrjt 5rjt /r.ud[rLngf flrL/ q< un4urL,1 50 6000 300

1,tr0 hqn$tnLnutr 100dl o-/
z2nt4 | 8000 12 216

1135 hntrnurb! 5001I1 't< $1u!ntr 500 100 50
rt92 t-h+ntluthtr 10% uqhpt4 o,a num 4700 zv 94
tt92 l-h+nttLuthL hqhLbsp i1!nq q< nutLn 900 ZU 18

1420 9uLghnLdh qunLUnLuru 10% 5rl1 o-/ rn4u-rh B] I 500 120
1300 9bmnqnnbbL 100rjq 2d1 q< unLluU 140 3000 420
1115 Lth 

nn tluithL 5. 0 rJq/l 0d1 / l_LrnpnLqh U ur Uu/ rhtr g< upLlurtl 2600 400 r 040
336 t150 9nLurUhnL ghLnndbtru4[rntr 2dq 0.2d1 q< unquLj 1 600 600 960

t 340 lngbf L LurmpfrnLdfr pbLqnLuun 20% 1dr q< undurLt 40 2000 80
1100 <bqu.rnhL LhU4n 5d1 o-a unLlLUU 8401 1000 840
1,45 l.IuqtibqhnLdh unLtsuru g< un{urLl r 0000

362 660 ubqumnL lrjt 1Odq / tobLhLhsnhtr/ q< u-rdqnLlrl r00 100 10
r361 160 ubmn!1nLqputlhn 5dq/2dr g< un{url-t 50 3000 t)u

700t362 lJbLnnqpnlnl munmnuun Sda/dr q< un4urtl 2000 100 200
1,72 uburpntrf 4urqnt 0.5% 100rJr q< huu 200 2500 500

366 135 ljhryuqbd l5LIq/3dL / df 4uqnlurd/ q< unUurU I 400 250 350
1.44 uuu 30% q< unLlLUtl 50 2500 125
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691L36 l.,,Luu'rpfrnuJfr ptnnhn 0.9 % l00dr q< 4L.r]rupbp 180 1500 270
691136 LuunpfrnLLlfr ptnnhn 0.9 % 250rjr q< ql.qhupbp 10n 6000 1140
591136 Lrur q< ri.lt.rhurBbp 2sQ 2000 500
i91136 LrirmnhnLdh ptnnhrl 0. 9% 500d1 q<

.rtt. drurabra 200 6000 r 200
i91136 LuuurnhnLrJh pLnnhry 0.9% 5d1 q<

q<
un{wl,l 45 1 000

t91136 1,'urmnhnLrJh ptnnhq'l 0%50d1 qL.qhupbrr 510 300 t53
t: ;91136 l-rurLnpfrnLd[r ptnnhn 7.5 %50OJr q<

tu'lt. r]rulpbn 500 100 50
5 ;91136 UuLnnhnLdh pLnnht. 0.9 %3000rJ1 q< num 1120

550

200

200

224

110
;7Lt1.5 Ln4nUuthL 0.5% 2{i0d1 q< L.r.,||.frr.uBbp

'/t-t-L) q< rnquLl 20 2000 40
R?

55

61122 rlu.rn ugbtnu-rrjn t 1 00tl;l 000dq q<

c<
btuuUntr 2200 200 440

91185 l[rpurgbmu.rd udul. 20% 5Ll un{u.tl-l 40 5000 200
3 J IIZJ !l,t qbnh 1nL6nqp 2{i0LI1 g< qt.Lhu.rpbB r80 3000 540

91129 q< tut.tiuabra 2201 2s00 550
71Lt3 q< hu.rm 1 600 50 80

3 6t1.t0 ULnbtnLnurL 250dt g<
z2htl 93000 10 930

7t1J5 Un Lgn tf urjbn!u1frU urtlq. 1 O% 2[t / unLlgn U ur dg.r, Y( un{uLl 60 3000 180
)7236 q< nurF OU 400 24

)7236 UnLqnuuLnhL utlq. 1rI1 / plnpnqirpurdf trl q< undurU 300 500 150

3( ;11,25 Uuluqdu.rmntr t-p 5d1 dburudfrqnl q< unLlurl.l 140 600 84
\^,55( ;1757 Ur"nnbulmndirghtr r/!hn2h I q +< 7-2ht4 160 500 80
33( ,7210 Umnn uLr.nhL e 1d1 0.0025% +< rnqurq 450 300 t55

i:e ,_1270 thuLh+nL 0.06q o-/
|.ULN r00 1 500 r50

|€ r1300 tl-uLnllun+hL 20J1 q< 'lum 950 100 95

136 1440 .fhmudhtr P hurdufrp 2d1 '+{- nduL 150 500 75
36 1,170 Sbmnugh!LhLh punLp q< lhum 550 200 110
?6 J. J- IO 3b$urqnllrtr 1q q< nltt 180 2500 450
36 1118 3b$mnhr-upuntr 1q q< )-2hll 150 5000 750

tt34 3h LqnnbLopuug h thl,200rJ1 400rJq g( lhuun 1100 40 44

1-176 Shur-u urnutln Lnfrn Ld prbq[r 1u.rm 2. 5dt Sdq q< urdqnLlu.r 4200 r00 420
LLg2 OLnhnbLurpu uUutrph Uu.rphL q< hum 1 000 5n )U

3 1100 OpuhurnghL lrJL g< unUu.rtl 115 2s00 287 5
Itl_4 $bL Lnurtr h t 2rjt 1 00dUq q< u.rdtrlnLtu.r 450 800 360

35 LT29 SnLnurLqhL 5dL ullulLlh UurphL o-a nuLn 250 50 125
1590 $nLnuubrjh+ 40dq q< 'lulF 7 2000 14

1223 $n upu h q uu n hL 0. 3 J1 /L u 4p n q urn htr h l; u.r ;q fr n LrJLu L q< unLlult.l 2400 100 240
1223 Sp upufr qu.rp frtr 0. 6dr g< un{urt.l 41 00 20 82
L2L5 (u [l u qh u.rjur u g du.rL url ur ur npu frtr g< NF\ 400 08
1191 (uU urpn rm n LthLLuJhtr 2[r6nLl1 q<

z2ht4 12000 .) 24

|175 q< num r300 r50 19s
362 590 $nLpnubtlfrq u-rdqnLtur q< unLlutl 40 2000 80
369 176 9Lhghtr 3rhurn q< hLuu | 800 300 540

.209 0tltrhU 0.4dq / LnurrJurrLlnqfrL/ q< rlqnutr|ulLn 330 2000 660
t362 640 (hnnnUnnmhqnL ounLo g< huur s50 100 55
362 ;42 nwulur4bnhtr urrjul. 21zo 2rJ1 q< nuLn 40 1 000 40
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t
51.1120 P{urduub120rjq unrl q< unLlurll 750 s00 375
r51139 u npuFgFu ur2pfr \urplrl 0,5% Srfr q< hurun 2160 20 432
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t3 t7277 $ntlh \unnhurp hpll {1nu1 q< huur 200
1 000 200
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tr:t 1.1,49 blrurnntlurlfh uuhqtrhp'1 6G, q q< num JZJ 2000 650
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l?1 1.149 Shuunrlurlfrtr uruhlhhp 17G, q q< hur.n 325 150 48.75
i:r 1135 thtrurpnhur\urL hpurliurl|rh, hn!6tnq hururhurhn n- q< nuLn 12700 Aa 508
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3 2s0 Pd2lurluL uqf pLn 9t3% q<
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L240 PLnphbpufr4frb 0.5% uqhnunurhL r-B q< hr-uur 1746 400 698.4
1230 Pbmu4n4[rL 10% 1 g<
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3 1270 tl+udnrtrrpu !urLurl 1% 10[1 q< hur Ln 150 100 l5

2437 L)5U Abnhfr4pn133% 1 q<
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C -nbul4mfr{ uulJrmuQnLgfr npn2rJuL ubutn
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brLuLuUnLl npn;zduL mbuun hulduupu6nL
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h uUurLIurprJ[rtrL bp[r np n2rJuutr m buunh h r.u durou6n L

g<
unL{r 40000

120

t3t2I250
(bquLnfrun C L{lrpnLufr LQumdurtlp lgG

hurUutju n dhtrtrbnh rrpn2dutr urbutnlr h ur{ rupubn L

q<
unlql 1 8000 20

360

3121270
<fr dL url frL gn u gn m u.rqJr ! frL bun lr ! brluL u ! n {

np n2du.rtr urbu r-n hu d u.rpu6n L

q<
Lnnrm 3s00 6

21

3121270 l.Iuqtrbqfrn Ld[r np n2dutr m buun h urd rlpurbn L 2
q<

unLrh 7500 6 45



12

$
tl
I
Iir
fr 17T70

utrqn ub2 elnrtlnqf , unJLUb, uulhul-!rugF;ptr;-
Q bm ntrL bp fr, m bu u.r ! r.u p r.r,r p l12nf , tr [r u p fr unL bp [r,
1b1qn ghtlLbp h, nLnnpf flrtrnqbtrfr h pfr frnn Lpf LI

nnn2tlu.rtr mburn uwpfrqtr bpf h u.rtlupu6n L

q<

unLtfr 5000 6

30

5 11,170 Llhqupp4h npn2dr.uL tnbuun hurJuuourdnL2
g<

mnlul s000 4
20

3 11150

u nquruJnrpn (u nqurlr1nph tuqnmfr) npn2dutr

mbuLn hu{upur6nL
g<

unLr"h 8000 12
96

1150 tjhqutrtnLBh nnnljultr lnhrrrn hrrrrlrrrnrrFnrl
q<

Ln n Lqh 8000 10
80
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r lp n ur"nrrtn uulbgh{rh tl hu lurqbL[r puLululutr
nnn2dutr m buun h u_r{u_rpu6n r

q<
Ln n rt}r 4200Q

210

i
332 1240

ft trdu m n fr ryulfrL $ ru 11 m n pL bp fr n p n2rluuL tn bu rn

hu.rdupu,l&nL
q<

mnLrh 6000 10
60

,1

?32 t230 UhSLhuh npn2'duL unbuu hur_luBu_r6nL
q<

unLrJr 1 2000 10 120

1 L270

S bu ur n u m bp ntr fr puL u L1 ur 11 u.rtr n p n2durtr un bu r.n

hrutlurpur6nL
q<

unLqh 48000 z
vb

I SnBunqtuuqdnqJr hurpnLgfl[r trtluundudp tgG
1270 | huUudundhLtrbpf npn2du.rL mbuLn hu.rdupu.r6nL

q<
unnLqh 20000

60

T 1270

Snpunqluqdnqfr hupnLgfrlfr L!umdurdp lgM
h ur U u du.rn dhLtr bn h n p n2tluti r.n bu un h ul { ulpul6n L

q<
mnLr"h 20000

60

5J- r270
Spflnqm fr pntrfrtrlr pr.uLu ! u lurtr np n2tlu.rL r"n bu un

hur{upu6nL 2
q<

mnrql 32000 a 64

3

I Y.lrlilrrulr uLluuruuuF tgu

I h uludupdfrLL bpf prutrurl4u Qurtr npn2dutr unbur-n

1,270 I hrur,lurpu,rdnL

q<
unnLrf 4s000 1

4tr,

3rz
I Plnpf atrbpfr lntrg btr Lnpugfr urlf n pn2rJu,rL unbur_n

1270 | hru{uipudnr
q<

mn[t{| 8500 I
85

JZI r30 
lPn Lbu urbnhtrh HDL Lu Lnu;gtrn 11 nbu;qbl rr o-/

mnLrh 4000 6 20

1 130 lPntbuLnbnhLfr LDL truurugtrn4 nbuqblLn g<
Lnnr{ 8000 5 40

t2 .270
ibn tbqn rt fupuLn 11 h n p dntr[r puL u.r[,1u L1 Lutr

nnn2dtltr mbutn hur4urpu.r6nL
q<

mnlul 44000 88

13t2 270

l-&fr p n q1n p n qfrL fr L 11 u rn tI u dp h ru 11 u d u.r p d frtrtr bp fr
npn2nLLI

q<
num 56000 I

56

t3t2 270 Uqnqfrpurrl nhur\ufrrl q<
hum 2500 50 t25

i3L2 270 fu turilb4hru urhurfrqhhf npn2riuh hurd urpur bnr q< nuu 23000 4 92

t3t2 270

.Fpntghpupui qfdburn 30 phuur/ Brucel los lirle-Test /3 0
test/

q< num
r5000 20

300

312 271

elrylrulru\Irrr 4 ulrguuurq/ urea_argrnlne.
LYO-2 broth g< nuu

71500 4
286

3691 39 Qforl-thlt |uururtrlmp 1 01 c< hurm 531 0 450 2389 5
3691 39 tlFnlnLurldpqh Frnurtrprp 50% 1.101 q<

hLuun 14000 60 840

312 270

bf ppf hnqhtrlr n p n 2 d ru I Ln b u m- h u r{r.up ru6n rsta rt 4
FIBRINOGEN-pREST 480 tests (Stago)

q<

nuul 139,000
5s6

312 270

LbnqlLuumfr0 Cl .rllnLu , r_nbu

4

5, 300 tests (Stago)
q<

num 28,1,90
1 40.95
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fl

i
s
t< 21270

'IISSU unlrnmluln n p n 2 rJ r.u 0 h u {rup udn L Sta rl 4
PTTa 1200 tests ({ltago)

g<

hu-rtn r30290 q

651.45

J 11310

Opndplr0 dudu0urll unbum- htu{rupu.rdnLStart 4
STA Thrombin 240 Tests (Stago)

g<
hu.rn 38490 5

192.45

{
l
33 2t270

Uni Calibrator 6x1ml
Stago)Start 4 ur0urthrquunnh hurJun +<

hwu 60000 1
60

I
J
i
33 21270

.rnuupnl nhqntQ, 2 r.iurlurpqurll, l2x2x I il1 Coag
lontrol .Start 4 ur0urtrquurnpfr hrurl-un

q<
hr.uun 1 1 8900 1

118.9

3 71270 Jurppnq 1nr-bnt1p Y<
LnnLrf 12000 z1

3 21270 ?unlrfr2 lnrEntJp
q<

mnlql 89000 2
178

i
ri

331 tt270 hUhurpnl t1h\urpnfrn uurnrqlry
g<

num 81000 | r 81

;1

isr 1270
Elbl4mpnrp flbgbpbtru q< nuJtn r21 000 242

37 7270
t1bL1 ur p n 4 tr ui r,n p 

Jr n LrJ q< num 147000 2 294

7270
E1b!mpn4 q< hu.rLn 1 71 000 1 342

3t 1270 f1b!mpn4 Qu[rnLrJ q< nuLn 92000 az 184

? 1270
hlbqupnrl !urpfrnLd q< hu-rLn 13000 1 186

1f 7270
LurLnpfr n Ldfr hbqt rr pn rlh qnLqhgf,nLbp I 25d1 g< huun 1n6000 z 52

I
ts

33 1270 STA CaCL2 , 24x15 rlllStart 4 ur0uflrquurnpfr hrurlurp
q<

hu-lm 42030 1)
42 03

5lz 1270
STA OWREN KOLLEF:,24x15 rl1:Starr 4
ur 0ruflrqrumnpf hurrlup

q<
hu.rur 47150 1

47.15

131 .270 FINNTIPS 2,50M1 (X1OO) Starl 4 Lu0Lufrqumnlrh hrurlurp
q<

nun 241900 1
241.9

3t2 270 Flacon 1850 balls Start,l u.r0uflrqruunpf hrutftup q<
hu.rrn 75850 | z 151 7

r31 270 larrettes cuvettes 150X4 Stad 4 ru0ulbqulnnplr hrurlul
q<

num 73000 4
2V2

3L2 270

;obas c111 trht"".Fl,il;[,]*llh
tpn2dur0 pbup hrurlruprurbnr q<

hu.rur 35000 z 70

372 270

cobas c111 trhllnmFh1
Bh4hurhmp npn2rlutr Jabup hurrlurpurbnr

q<
num 33200 99.6

321,1 30

cobas c1 11 fr"1t"-t1r1rfr1,
npn2ilurh urhurn hullurpurbnt +<

hu.rur 29700 89.1

3277 80

uuucruurr I Spfq$gtplrrn
npn2rlurh urturn hunlruputbnt q<

num 20000 1
20

t2 70

cobas cl 11 HDL 
"nrU,J*1,urhuur hunlruprubnt q<

nuu 48400 1
48.4

ZLL 30

LDL nln2rlurh
nhuur hrurlurprubnr q<

hr.um 63000 1
OJ

t27 JU

vuudsur rr gpturtn[hirtr
npn2du0 pbup hurrlurprubnr q<

num 28000 F 140

i2t1 )i

vuvdourrr $1nt\nqur
npn2du0 pbup hur{urpubnr q<

num 20000 r00

I27 70

U-fqurtrlntp
npn2rlu0 pbup hunlurptuEnr q<

nuu 21500 4
B6

121 70
UtLu0h0

ud[0ntnpu0ugbpuqrufr npn2du0pbuun_ q<
nuLn :20350 z

40.7
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I

$' 21270

cobas c11 1 qruilliur_
q1 nrurullfr 1 urpurhuilhpurqur n n n Z rJ ru 0 Bb un

q<
nuJLn 1 5400 1

154

i
3z 21270

vuuirs ct tt HbAlc
npn2du0 pbup hun{urpurbnr g<

huLn 135400 1
r35.4

L 21270

Cobas c111 til+ullnhtr
\firurqur npn2du0 llbup hullurprubnr

q<
nuul 36780 1

36.78

3 21270
I_'IZ npn2[u.r0 pbup

hullurpurbnr q<
num 231 00 1

231
I
l

21,270

cobas c1 11 Zfrilrur3frh
Snu$ulnuqur npn2du0 pbup hullurpur8nt

q<
nuu | 7000 z

34

3 2L270

cobas c1 'l 1 Uuu1*]rn**-
Lu d f I n tnpu0 uS bp urqrufr n pn2 d u0 pb um-

q<
num 20900

02/

3 21270

cobas c11'1 Urlfluqru
ph4hurhnrp npn2du[r pbup hunlurpurbnr

q<

g<

nuu 50050 z
100.1

J] ,_1270

cobas c1 11 Upnuifrh
Eh4hurhmp npn2rlu-r[r pbup hrurlruprubnr huur 26000 1

26

5l 1t270

cobas c1 1'l CLlhluhnlp
uqfnur\nrgfr npn2dur0 pbup hullurprubnr J(

hwLn 25000 z
50

31 1270
CHP

puhu\ur\urh npn2dr"u[r pbup hunlurprubrn
q<

hurr,n 1 00000 z
200

J
rl

331 1270

cobas c111 CFAS
|.1 Lu 

1 fr p p Lu ur n p' pfrnplr rf[ur\urtr urtrurfrqtrhpf hurd Lu p
q<

hu.run 40650 1
40.65

5_t I270
cobas c111 CFAS HbAlc
Q Lu 

1 ft p p Lu un n p' pfrnpfllf ru\urh urtrurfirqhLpfr hu d ur p
o-/

nu_iu 90730 1
90.73

L L270

cobas c1 11 CfRS protein
L1 tu 

1 fr p p u un n p' pf npflffrurl1ruh urhrufrqhhpf hur d tu p
q<

nuu 1 30000 1

1?n

5I 7270

cobas c111 CFAS L.ioid
L1 u 1 ft p p u u n p' pirnpfr dfrurlluh urhurfirqtrhpf hur rJ u p

q<
hr.um 20710 1

20.71

31 1270

:obas c111 lnburpnl \1_]rL 2hrI
Jnrlurfr 1

q<
hu.rLn | 177340 '1

177.34

31 1270

:obas c11 1 \nbupnl \[rh
,hrf rim6nfr 2 q<

huun 177340 1
177.34

t r270
;obas c1 11 Cleaner q<

Nl]lLN 18000 4 /)

5r, 1270

I.{urgnq hhrlnr\ h}nihrulfrh pl-rmlpfr \npunL Ul11
Lu0 ulfrquurnpfr hurdurp

g<
hum 23650 1

23.65

3 t270

Activator for Cobas c111 9x12 ml gnpuru 
frhrnhqpur

h Qnpuru U111 urhurfirqruunphhpfr hunlurp

q<

hu.rur 42160 1

4216

312 270

I S E Deproteinizer: gnpuru c 1 1 1 rutrurf q**.r1r;,
hrurlurp q<

huru 9000
4\

t312 270

9npuru U1 11 u0urlfrquunnplr hLudu_rp

NACI9% Diluent g<
hu.rr-n 17000 1

i372 270

hhrlnfrqurghnrl nhurqhirln:\npuru Ul 1 1

u0 Lulf qur-nnplr hLudup
q<

hu-rtn 41 000 1
41

3!2 270

cobas c111 Ohur\gfrntr
ftm{hrnhtpfr hurrlurpurbnr q<

hu.rur 63000 5
J t:l

312 270 cobas c1 1 1 cobas sample cup
q<

nulm 56000 1
56

312 270

Cobas e 411 Elecsys 2t010 hlhtl"lr"
'lhhf 4pnhqfruh4nurnt.pntr-unr1$urur p ruO ru L1 tu ! u 0
npn2du0 mb um-huLlr,ulQudnL

q<

nun 88000
88

312 270

vuuduE+rr Etecsyszu'tu h1hlufu
lhhlrrlFntulhurtr+nurnhpnh-unrl,purur 

\urfirppunnnp
q<

hr.um 31490
31.49

312 270

Cobas e 41 1 Elecsys 2010 hthl{rh"
Shurnnurnhpnh pul tul4rll1u0 npn2d LuO Lnb uu_

q<
nuLn 82000 1

82

3t2 ,_70

3obas e 411 Elecsys 2010 httlt"h,
Shurnnuuhpnh \urfrppulnnp

q<
nuu 31 490 I

31 49
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2t270

Co 's 2010 hlhtlrb"bn nnrJn0h pu0tulurlur0 npn2Uu0
mb

q<
hulm 58000 I

5B

l
3g 21270

vvvqo e a r r Errrusys zu tu EiHlu[u
$1{UnLt fu pu0n q hnp dn0 \rufirppruunp

g<
hr.uLn 34000

34
J
{

t
.l

21270

vuudru+rrtrtecsyszutu h1hl1u]ru
qpnpr\ufrtr h n p dn li fr pru 0 u L1 ru L1 ru I n p n 2 rJ u 0
mbum-hr-u{tupudnr

q<

hum 61000 1

61

l^
s5 27270

vuvdDv+rrErecsyljzu-tu hlhllufru
qpnlullrnlrh \urfrppulnnp '+(-

num 34000 I
AA

5 21270

vvuqDu+rr Erecsyszu'tu L1h\ufu
tunpf n0f tl qn0u4nupnqfr0f pu0rullur!u0 c<

nuLn 77000 77

!
33 21270

Cobas e 411 Elecsys; 20.10 hlhtt"h"
tunp In 0f 11 qn 0u4n upn qfr0[r !ur1]rppulnnl

o-/
huLn 31490 1

31.49
{
i

$Er ,_r270

ysi zu10 h1h\ufru
lltuurdudp G hru!tudtuprJh0[bnh
dr,u0 pbuur_hudurpurdnr

q<
NLULN 97000 I

97

4

331 1270
-;obas e 411 Elecsys 2010 hlhllufu
qphulrQntnnpnl S npu nqlurqdn u |gG

q<
hurm 75000 75

t
!

331 t270
lobas e 41 1 Elecsys 2010 hlhtl"h"
i np u n r4 luqd n u lr 0 Q ur m d Lu dp M h rull u d tu n rl h [ [ bn h

q<
huLn 117000 '| u/

I

331 1270

,obas e 411 Elecsys 2010 h1U\ufru
qphuf\ntrurpnl S npu nqlurqdn u lg M

g<
huu 90500 1

vtt h

1 1270

iobas e 41 1 Elecsys 20i 0 hlhQufru
lf Lnndbquln{[pnLulr 0!umrlur)n G
r tu U ru tl u n rJ h [ [ b n [r p u 0 tu 1.1 ru L1 ru 0 n n n 2 d ur I p b u ur_

g<
num 142000 1

142

1270

)obas e 41 1 Elecsys 2010 h1h\ufru
lphulr\nhurpl 3[r Lnrr dbqLuln{frpn Lu I gG

q<
num 71 000

/l

31 L270

Cobas e 411 Elecsys 2010 hlhtr"h"
SlrundbqulnLl[rpnLuf 0Lluurdrudp M
h ru! u d tup d lr 0 0 b p fr p uu 0 ru ! ru 1.1 ru I n p n 2 d ru 0 pb u ur_

q<

N UJLN 172000 1

172

3 7270

Cobas e 41 1 Elecsys 2010 h1t\u[u
qphufrllnhurpnl 3frr,nndbqu1n {frpnLu |gM

q<
nurLn 86000 I

86

1270

Cobas e 411 Elecsys 2010 i:1tq"p"-
rl p n u Ln r"u un u u.l b S h $ h tl h u.r 11 Luqb 0 [r p u 0 tu ! tu L1 ru 0
npn2du0 pbuu-hLut{tupu6nL

q<

nuul 1 02000 1z

204

1 t270

Cobas e 41 1 Elecsys :2010 h1t\ufu
'rl n n u m uu ur u q b S h S h q h Lu ! Luqb 0 fr \rufrppurunp

q<
huuLn 34000

34

312 270

Cobas e 4'l 1 Elecsys i20'l 0 tftflutru
urqurrn pf popufr0lr prufiruL1tuL1LuO npn2rJuti pbuu_

q<
hr-uLn 64900 z

129 8

t3L2 270

Cobas e 411 Etecsys 12010 Eh\"h,
urqu u pfr pnp u fr 0 fr \ur$ppunnnp

q<
hu-rLn 34000 1

aA

i3L2 270

Cobas e 411 Elecsys 11010 hfttt"h"
L.; n L unb[r 0 u g 0 n 11 h n p d rr 0 fr pu 0 ru L1 ru I u.r[ np n 2 d u 0

q<
hurun 58000 1

58

31,2 270

Cobas e 41 1 Elecsys 21010 hthll.rF
LlnLm blr 0ug 0nq h np dn 0[r \urflrppururnp

q<
nuru 34000 1

34

312 270

Cobas e 41 1 Elecsys 2t010 h1tlufru
ld I p b n mp n q h n p d n 0 lr p Lu 0 u Q rull ru 0 n p n 2 d u 0 pb u m.

q<
num 64900 a 194,7

31 270

Cobas e 41 1 Elecsys 2t010

lD hn bnup nq h np rJn0f [urfrppulnnp
hlhlluiru q<

nuLn 34000 z
6B

3t2 270

Cobas e 41 1 Elecsys 2010 hlUltq*
&rfupru00bplr purlsttb[h CA 125 tu0Lnfqb[]r

q<
nuJm 1 36000 1

136

3L2 )_70

Cobas e 411 Elecsys 2010 tihqq*
dLlu:ntu00bnh purtstlbrth CA 125 ru0mf qb0

o-a
hu:u 31 490 1

31.49

1 t_70

\.uu ulu h1hl1ufru
ItuU 4uqlr hLuQrudLup0lr00bptr
purO pbur"n-htu{r"upr"u6nL

q<

nuu 1 03000 z

206
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21270

cobas e411 Etecsys 2m
I Lu 11 ru pfr p n Jr 4 u1 b p np u Jr 4u qfr h u ! u d u p d f., A Ol n f-r

\urfirppulnnp
g<

hurrn 29000 1

29

3 .21270

vvvqoearr Eruuuyszutu hlhllufu
S h n hn q1n p n L 1[r 0 [r h\ururrfulfp h tu 1.1 u d tu pU h O O U n n

q<
hur.n 1 03000 1

r03
;l

$' 21270

vvudrE+rrErecsyszutu h1h\Ulru
S I p h n q 1n p n L 1fr 0 fr h\ulnilullp h ru ! ru d u n 0 h 0 0h n h

q<
num 31490 1

31.49

3 21270

vuvdru+rr Erecsyszu'tu h1t\ufu
lDfrpopu[r0[ pu0uQu!u0 npn2durO BbuLn_ 

- q<
num 70400 1

704

21270

vuudre+tt trtecsylszulu hlhllulru
lD ft popufr 0 fr \urfrppruunp

q<
nu|.n 34000 1

aA

27270
s+rrEtecsy:jzUtU h1h\ufru
llnhurpnl nrtrlirltnuurr q<

num 301 90 1
30.1 9

{
It
? 27270

evudDE+rr ErecsyszU'tU h1h\uiru
plnhrnpnl nrpmopurrhh r_frunbhn

q<
hurun 55090 1

55 nA
t

3 tl tt270
vvvdDE+rrErecsysi zu-tu h1h\ufru
ur+uulurnp uhubthh

q<
hur,n 1 500 1

t5
i

t5r r270
trrecsysi zul u h1hlufru

ulru{n2 o-/
huun 6000 5 30

1270
I Erecsys zUlU h1h\ufru LnL6frl

dnrpnfr g<
hutLn 46250 46.25

I

331 L270
vuudss+rrEtecsyszulu h1h\ufru
LnLdht nrhhrlhluurl q<

n urLn 1 8000 1
r8

t

1 1270
Sobas e 411 Elecsys 2010 hthtl"h" ISE
rftuQlfr0 +<

num 25000 1

33 1270
-;obas e 41 'l Elecsys 2010 t1Uq"1," l--IhUnnUlnL4bm0bn | *.

num 56000 z 112

31 1270
/ooas e 4t t Etecsys 2010 h1h\ufru
tujnu4hn0bn q<

g<

N|.ULN 58000 2
116

3I: 7270
lobas e 411 Elecsys 20.1 0 hftl"Ir"
r[r0ub1

hu.rm 31 000 r55

1 7270
,oDas e 411 Etecsys 2010 hfn\ufru
lpnub1 g<

hulur 27000 IJJ

5
lCobas 

e 411 Etecsys 2010 
-hlhlluhu1279 lUnh"h[ntlnpnl Thyro Ab-]r q<

num 1 1 6000 1

116

31

',2010 hlhtl"h"
h'-

q<
nul u-t 93000 ,| 93

1372 270

Cobas e 41 1 Elecsys 12010 hthtl"lr" FI"3
urquln urpf3n4plrpnhlrhf purhur\ur\urtr npn2rlurh
urkuur hunlurpurbnr

q<

hu-rm

64900 1 649

i3t2

lCobas e 411 Etecsys 2010 hlhq"h, FT3

lurqrutn utpfun4pfrpnhlLhfr purtrur\ur\urh npn2rftuh
270 l\urfirppulnnp

q<

N|'ULN

34s00 I 345

3t2 270

tlurqhfruur\urh luurnhfr2fr U-ppr.1 1rr.t*lpDesoTU
U g< 84550

hr-uun
I 84.55

3141 tL
/ T-JUU Utlqur\ 101 q<

huLn
24,000 10 240

314 I,t
XP-300 Uurpm.funnnlurSqhpWH q< , 1120,000nuJm I 360

r+r 1.7
XP-300 Uhlqttr g<

num 40,000 2 80
18047L ldqurol uu funn.d

584 1 600 934.4
299 20 qbqmuilnbnh qmh:trbn LIU hu-rr-n 200000 1 200
t442 00 tlnLunul4frl rlupmllnq uu nuu'l 40000 o 240

l01331 u{mn dbpbLurLbn h ulurhbu ur u.rdubn r.tu 500000 1 500

"[unbfrpu pun Lpu.r gfrL l.rr rn LBun 400
102I UunbgduL hbtnLll q<

hLnn 1 000 125 t2J
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6' 11100 Cundh:h tnLn q<
Fmn 1 000 135 r35

@9

dt
I
9sr
$t

11400 g<
Lhrnn 1 500 48 7?

11600 (h+nnnLdblurprup[r 
1nrr1

q<
Lhrn 1 300 14 82

IIOJU q<
nmn 700 14 9B

27700 Sblubh!urliurL 4wqbfirtr T< lrq 2000 zu 4Q

ChLurnunut|uL tlnLpbn 5385.3

8 21130 fthenhLb 6bnLng r.tu qnuq 250 15 375
q

9l

27130

41000

Fu.rtr{np u!urL d bntr ng rJu q.nuq 270 300 81

llnLhhph Lbtrulhtr qrunl,l ttu hr.urJl 350 zvv 70

[0, tI200 l.Jnu[rtrd, fdnLlulur rJu
'-|q 1 500 EN

,i

;1130 UhthUntrb ounLo r.Iu qq 4600 1 46
{r 1770 uurn m !ngtr bnh drgp ur{n n rJu.rL u.rutun utn uu NULN 25000 1 25

1' 1180 !!g!urhi m[rmutr tru hu-rLn 500 10 5
0

?7t 1180 U{unndum utr2uunfrl dfru$uq 25U LIU N|'ULN
1 100 10 il

12 1180 ll4r.nndu.rm urtr2uunf I rlhuguq 50U rJu num
1 500 6 75

1180 npuln hnrlurgnLdn{ LIU huu 100 80 B

1,270 -udq 60{m uu nuu 100 100 10

315 7270 -udq 100{m ttu huun 100 100 r0

If, 1600 3bnbUurthtr lurdq SCrOL{tn I uU hur-rr I t SOO 30 45

15 1240 ll-udq Lb412{u rJu hurur 140C 100 140
:
l1q 7240 Ludq Lb418{m rJu huLn

1 800 100 180
J

5rs L240 l-udq Lb+ 30{r.n nu hur-n 7 150 z5 178.75
I

irs 1220 E*lntl1uLIq 40{m rJu huu
1 600 40 64
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